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1. "B—H. f(z) £ 2o KA IR, W HIRAEE—,
2. RERA L f(x) £z KA IR, W f(z) £ o 69 FE—ARBA A T
3. RS f(2) 48 zo A IR, BARMAKTF (1 F) &, 0 f(2) & xo 89E—ATHA

XF ) E
4. B f(2) = g(x), B lim f(z), lim g(z) A HE, W lim f(z) > lim g(z).
T—rT0 T—T0 T—T0 T—rT0 .
ME—
A — Ay

% hm f(z) = Ay, 11m flx) = Ag. B AL > Ay, N e = > 0, U 36; > 0,Vz,0 <

|x—xo| < (51 = |f(z) — A1| < g X3 > 0,Vr,0 < |z — 20| < 0y = |f(z) — As| < &. B
§ = min{d;, &}, M Vz,0 < |z — 20| < § = |A; — As] < &, T fB.

ARR 19.2 (BH f(x) 1 vo LEEHNTNFTELEM)

l. Ve > 0,30 > 0,Vz,0 < |z — x| <6 = |f(x) — flxo)| <&

2. f(xo—0) = f(zo) = f(zo +0)sie. f(z) £ xo RBLAEL X HEL,
3. f(x) = f(zo) + a(z),a(z) = 0(x — zo);

4. Alin_}oAy =0, %+ Az =1 — z9, Ay = f(x0 + Az) — f(0).

> B )= o ) )=S0, 13, (0) =0 ) ks )
Y (@) = Floo) + alo), B f(o) F 7o RES. £l ) = Jin (1) + ale) =
f(wo) + lim a(z) = f(zo), & f(z) 2o 2

4 x— 29 Ar—0, f(x) = f(xo) @Ay—)O,ﬁkwli_)rgof(x) = f(zo) & hm (f(z) = f(xg)) =

Az—0

0« lim Ay =0.
Az—0

19.2 JLNERRIES
§ > 0 NHEL, & a(r) — 0(00), B(z) — 0(c0), x — 0.



19.3 A B =

% f(x) A gla) RRAE 20 §FAFCHR BT R D % 0, WA f(2)
& g(z) 89 o(g(x)), T f(z) = o(g(x))(z = o).

3 f(e) A glo) RA A 10 B EAESARE L B4, do R AN, % < M f 2y 80£
SRR, WA f(2) R g(x) 8 O(g(x), 2 f(z) = Og(@)(z — z0)e .

1. s xo 196 A3 U (20, 0) = {2|0 < |z — mo| < 6};
2. Kwg B0 0 AU (0, 0) = {2]0 < [z — 20| < 6} \{wo};

3 zlggo ZE ; 0, MHEN a(z) = o(B(x)); F75 a(z) £ Alz) MEWES I, 8E B 6(x)
£ a(z) MBS K

4. 745 AM > 0,s.t.|a(x)| < M|B(x)|,Vz € U*(x0,d), WILHN a(z) = O(B(z));
ﬁﬁ?ﬁ%%%%d@%ﬁ%%@ﬁ%ﬁ{ﬂgg%ﬁ:@ﬁﬁﬂ@%ﬁ%%&ﬁ
B4 (M > 0,36 > 0,Ya € U(20,0) = |f(x)] < Mla|}. HHZ B2 = o(z), 2 — 0
TR PR 22 € o(x).

leﬁgﬁﬂw o 2 0,1 a(z) = O(B(x), & € U*(x0,0). IHFK a(z) 5 A(z) NFANE
73/ (R), H a(z) ~ af(z),z T To.

51192 % a, =lnn,b, =1+ 3 4+ 4 %,Cn =n,d, = Vnl, M n — oo BF,an, by, Cn, dyy, — 00,
H a, =o(bn), b, = o(cy), ¢ = 0(dy).
5 19.3 34 & — xy B, UEIA:
L. 0( (x)) - o(B(x)) = ola(x) - f(x));
O(a(z)) - O(B(x)) = O(a(x) - B());
O(o(a(x))) = o(a(x));
o(Oa(e)) = ofa(z)).
gﬁ% EEIY o(a(z))o(B(x)) RonHREEHTE, B o(a(z))o(B(x)) = {fglf € ola(z)),g €
o(B(x))}.
0, O PERIRAHRT RN K R, A B AFRIRA =B (R T35k (). o(f) HIE L SEFR
A fIIET NEHBSES, PR S5 bR o2 e FATIAEI B E & 1R RiX
FhIC T3 /NIRRT AT 6 75 /AT LA B R R R

&

H

19.3 [ S

f(x) L X ] [a,b] FIESERR f(x) 175 [a,b] LB— S &RELL, B f(x) 7E (a,b) BIRE—
#ELL, B f(a+0) = f(a), f(b—0) = f(D).

(z) 7E [a, +00) FHELRSE f(2) 1E (a, +o0) HIFE— HHESE, H f(a+0) = f(a).

f(x) £E @0 ALTRIHT, T
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—0), f(zo + 0) BIFE HAITE < o 22 f(2) BB — IR WA
—0), f(zo + 0) BHFAE BAMEE < 20 & f(2) HIBRERIA] T A
—0) =

— O)

—00, f(xg + 0) ZDH—MALELE, H f(zo — 0) # oo, f(xg + 0) # 00 & ¢

(o) BRYER 28 a] W7 s r R EL e T B

19.4 JLA%550 e 3R] eR B R EE L1

1, ze€Q;

1.Mﬂﬁ$ammm0@ﬁﬂ@){ ]

(a).

(b).
(©).

(a).

(b).

().

0, zeR-Q.
fE (—o0,+00) FAH G, HAEF MR, 8 —NEABEEEZ D(x) B8, Wi
D(z) AMEAER /N IE
D(z) TEAE R — m#AIELE, B D(z) 75 (—o0, +0o0) L AbAbIE] HT;
g(x) = xD(z),z € R, M| g(z) XA © = 0 AbiE4E.

|D(z)] < 1,Vz € R, 8 D(z) # (—o0,+00) LHF. X Ve € R,q0 € Q,D(z + ¢) =
D(z), % D(x) £ B % 3.

Fo— 8 xo, WAV LUBE| — A dy A iony 2R (8D %75 {a,} KE] 20,
© TR B BRI RME R O 55 {b,} % 8EF 20, FFOL lim D(a) = 1,
Tl lim D(b,) = 0. Ht L BHAEEH — RO EGRIRATRE, 425 = KFIT A
9(0) = 0, lim [g(2)| < lim || = 0, & g(x) £ o = 0 L ELE & v # 0,g(x) 1 o K3

s | D(x) = @ o S, FIE, M g(x) WA o = 0 A E S

1, x=0;
2. Riemann HR#:R(x) = 37 T = g(p,q €Z,q#0,(p,q) =1); W
0, zeR-Q.
(a). R(z) {E (o0, +oo) LAbAA & X, A7 HEWN 1,
(b). R(x) fEAER— 5 2o MR Ojie. lim R(z) =0,V € R;
(¢). R(z) fEAT—TCHE fi AL AR S, 757G B AR HR A vl 25 [A] B 55

3. ¢(x)

o0

A 1
= Zn—A,aj € (1, 400),

n=1
E(x) 7E (1, +o0) LALAIES:, AbAb VT4, H £(z) € C™(1, +00),ie. &(x) 1E (1, +00) LAbAL
ﬁﬁ4ﬁ%5ﬁ§?§ﬁ@@@i&.

4. T'(x)

2 e 't dt, x> 0,

P(a) 75 (0, +00) FESE, MALTTRL, FL D(2) € C(0, +00).
“ 1Bl ex2.1:4,5,6(2)(4)(5),7,8,17(1)(3)(4).



